f\/\aﬂx&—AdiAAhdJ
LO: To add and subtract numbers with up to . digits.
Cmsk%—gdwthesewlwlahmwu&ng/colummdhod

1. 6624 2. 3457 3. 3584 4. 5493
+2584 +4732 +3445 +2608
5. 9463 6. 4557 /. 7460 8. 5400
- 3841 +4249 -5374 -2649

[ S T P PSSP YT e

. Mount Everest is 8,8L.8mv talll and, Mount K2 s 8,6llm. Hour muuch taller s
Mount Everest thary Mount K27

2. Mr Waremg;trwel& 250 mei‘x\e/s/omf\/\mdwé/and/hetmmel&MSq melres
on/Tu;esdwg/. meang;meh%didhetrwduoltog@ﬂ\er\?

3. A shop sells [.308 cartons of milk inv @ week: The same shop sells 299
loaves of bread: How many more cartons of milk were sold, compared, to
bread?

iTher\ewer\eSOOO seed&uwapodeetoaﬁgms&seed&.Agw\denﬂ\spNnkle@
|230q seeds orvthe, ground duning the day.
, Is he correct? Explmmwr\eﬂ/scmmg




Moths - Actiritiy 2

LO: To add and subtract numbers with up to . digits.

Core skill, - Add or subtract the [ dxgxtnumbenbelowu&ng;columvmﬁﬂwdf

1. 4382m 2. 3457ml 3. 14509 4. 4832m
+3948m +4732ml +23659 +3698m

5. 3847¢g 6. 5203ml 7. 2392cm 8. 5423¢g
- 31299 +3142ml -1464cm -39069

method.
. On Monday, Essar cycles 1609 metres. On Tuesday, he cycles [.023 metres.
Howmmxé/md:re&did/hejogdewm)odwg@?

2. VWW@ZSOOWW&O&WM He/poux\s/|h7qml;mi:ooum
during o party. Howr marwy millilitres: are, left?

3. Zm'smWLQBSM%CmM@memW
flowers v his garden. She pours the: same amount the following day. Hour

D@M—Smmmmwmmmm

FG_Mm
ITh@fables}Mhﬂght&oaﬁd%exﬂ'\tmounmm

: Mountain Height in metres
i Mount Everest 8,848
: Mount Kilimanjaro 5,895
| | Ben Nevis 1,344

!HowmuchhghmwMounbEvmbﬂqmﬂ\ewmbxnedh&ght%ﬁﬂdeoﬂﬂmm

Show
your
method




Maths - Actinitiy 3
LO: To estimate, and calculate di Measures; |

[Val} and

Core Skl
To estimate muy answer I carv round to the nearest

L&thenﬂw&digitl&a 6, /7, 8 or Q.
Moidmthe;ornwnbuxﬂmmoppx\opmoteeshmat@

orto the nearest |10

Rexnmbmwemunddo&ml}ﬂqeteqﬂn&digitL&L 2, 3onrl. V\/e/r\ound,up

6. Hassan buys 2 books. One book,
costs £8.99 and the other costs
£14..99. How muuch dids both, books
cost?

Amount E stimate
£13.20 + £17.80 £21 + £l6
£35.L1 + £I.79 £I3 + £I7
£35.60 + .30 £35 + £l
£21.35 + £15.80 £L.O + £IO

Depth task Greater Depthy
1. £13.54 2. £22.99
+£24.54 +£15.65 4 4 5
6
3. £34.98 4. £24.54 4 6 9 0
- £25.45 -£12.38
5. Mr Wareing buys blue oil paint L
thab coste £15.L.9 and, red; oil, paint . c
that costs £17.50. Hour muchy does
he spend all: together? 5 1 1 09




f\/\aﬂw—Ade:y/L
LO: Toodd/ondsubh\o,ctnumben&w{ﬂwup’toh dxg,d'@mdudmgzmon&ayumpound&md
m

Core skill, - Solve the caleulations below- using column method.

1.£12.90 2. £24.45 3. £34.99 4. £17.90
+£24.56 +£42.64 - £15.90 -£14.58

5. £15.48 6. £38.56 7. £48.20 8. £30.60
-£12.95 +£10.44 -£29.18 -£16.46

Depth task - Solwe the, word, problems belour using your knouledge of

A For{nibejhmohboooha&bwuheduoed/wm;c& Itoost£|2.h5tobegim
uﬂﬂuHowmuduwmxldlboosba}benbeingheducede@£350?

2. AMW@WWO()CW(FO{\J{ZZSL and@d,umper\(ﬁo{\ﬂoqq Houwr

3. On Sundag/, Aleef\a/spend@fVZSbO o.t’df\e/shop/ The(ﬁdlowmgzweeh she
spends £6.0.5 less. Howr much, did she spend, the following week?

I i
|AWWW%M%CWWLM£ZSSMHWWWM |
!her\e,oewe/}rwma/ﬂOpoundnotep !



AFIBU){’J\S/

Activityy |

Core skill

1. 6624 2. 3457 3. 3584 4. 5493
+2584 +4732 +3445 +2608
9208 8189 7029 8101
11 1 11 1
8 3'5 59
5.9463 6. 4557 7. 7480 8. 58§D
- 3841 +4249 -5374 -2549
5622 8786 2086 3051

1
Depths task

. Mount: Everest is 8,8[,8m tall, and, Mount K2 is 8,6ll. Hour much taller is
Mount; Exrerest than, Mount K27
88L.8 - 86l - 237

2. Mr Warexngatrwelﬁ 2451, me,tr%oruMondaJqundahe:tr‘wel&qu melres
2050 + 1,59 - 393

3. A shop sells .308 cartons of milk in a week: The same. shop sells 29,9
bread?

1,308 - 29L9 - 1359

|

There were 5000 md&wa;pac&etqupas&s&ed&ﬂgapdmspmnﬂm
2309 seedﬁomﬂ\&gwnd;dmmg;ﬂ'wdﬂg
j he says Is he correct? Explain your reasoning. I

2000 H&L&motcm%dﬁh&mustnegmp:gtime&to-b&able‘
2309 to subtrach the ones. His answer should Look like this:




Achirity 2

Core skill, - Add, or subtract the [, dxgbmba\bdmmgmnwﬁwi
1.4382m 2. 3457ml 3. 1450g 4, 4832m
+3948m +4732ml +23695¢g +3698m
8330m 8189ml 3815g 8530m
111 1 1 111
3 18 41
5.3847g  6.5203m 7.%3%em 8. 'S4d3g
- 31299 +3142m| -1464cm -39069g
7169 8345ml 928cm 1517¢g
D) task - Sobve the word, using additiory or subtrachion columr method.
l. On Mondmda, gmodde&ﬁoq metres. On Tuesdug;, he:cgdﬂ&LOZ3 metres. Hour
609m, + [ 023m, = 5632m,
2. Vus%h.u&a;2550mbboiﬂeqﬁﬁng;drmh HePOLm|L7qn1LmtoaJpadMngm
Housr millilitres: are, left?

2550mb - 1L 79l = 771 mb

3. Zaim’s«monvpoun&[LQ35quPwabenuﬁ'mummateﬂng;mmto WMHwﬂmmw
his Sh@pmm&ﬂwasam&ammbﬂ'wa[oumumgdmdﬁmengnﬂhhhe&hﬂa
she ?

L9925 + [L925 - 98/70ml

Greater Depth,

I Mountain

Height in metres

Mount Everest

8,848

Mount Kilimanjaro

5,895

Ben Nevis

1,344

|
Imeu&uHigherL&MmmbEuenestﬂﬁmﬂwwmbmedheighboj:ﬂwothephw
Immmiauw?

: 5895 3

| Show +1344 gs

I method 7239 '?239




Ackivity 3

Matdntf'wamounbuﬂﬂbmopppopmote,esturwi&

he, SPf_’ﬂ.d; UlLtogethe»? :
£I5.L.9 +« £1750 - £32.99

6. Hassarv 2 books. One book
costs £8.99 and, the other cost
IL..99. Howr muchs dids bothy books
cost?

£8.99 + £I[./99 - £2(,..98

Armount E stimate,
£13.20 + £17.80 £2l + £l6
£35.L1 + £1.79 £I3 + £I7
£35.60 + 1130 £35 + £l
£21.35 + £15.80 £L.0 + £IO
Depth. task Greater Depthy
Complete the. following calculations. | Work out, the, missing number problems:
1. £13.54 2. £2299 ]

+£24.54 +£15.65 4 4|25

£38.08 _£38.64 —

1 11 + 126 j

5 4 46 9 0
3. £34.98 4.£24%4
5. M~ Wareing, blue ol paint: B
that costs £15..9 and, red, ol paint I [
that costs £17.50. Hour muchs does c 11 o




Actinty |

Core skills - Sol»e;ﬂ’m;caluﬂaﬁon&b,elouyusmg;cdxmmﬁthoi
2 8
1. £12.90 2. £24 .45 3. £34.99 4. £17.90
+£24 56 +£42 64 _£15.90 £14.58
£37 46 £67.09 £19.09 £03.32
1
4 3 1 2 5
5. £15/48 6. £38.56 7. £%8%50 8. £3b B0
-£12.95 + £10.44 _£29.18 _£16.46
£02.53 £49.00 £19.02 £14.14
11

D@ﬂnhﬁ—smmmmﬁm&wﬂw@r@wbﬂu@g&oj}

. A For‘tmbe:hmdwbox,hﬂ&beemredumd;wmm It cost £12.L.5 to—bexng;

with., Hmumuduumuld;itco&baﬁa\beingzreduced;b%£3.50?

£I2.L5 - £350 - £8.495

2. Ali;bwaﬂ @ newr pair Cﬂ:hﬂmﬂ‘ﬁtl:or‘ £22.50. and wJAJmpenafon £10.99. Hour

£22.50 + £10.99 - £33.53

3. On Sundmd;, Aleena 5pend&£25.60 ab the shop. Tl’lﬂ/ﬂ[OUDLUU‘IQI week, she
£6.L5 less. Houwr muuchs did she spﬂwd/ﬂwa[oUDu}mg« week?

£25.60 - £6.L.5 - £19I5

Iﬁm@g&mm%ﬁw@hﬁggS each. Hour muchs change, will

I he receive fromv o £10 pound, note?
I £2.85 £10.00 - £8.25 = £1.75
I £2.85 Armaany will hare £1.75 irv change.,
I+£2.85
£8.55
I 21

L e e e e e e e e e — - —



